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" Choose correct answers
#flwrer el amwu Carbbshs.

e

@)

(3)

V)
(©)

(E)

- WCB system, the maximum magnitude of the measurement

may be 360° and measurement is taken anticlockwise

WCB waple sar@lyssiu@n ifdsuls Gsrew ey 560°
@D wHob Jereihismer  suany  Sessg  aHi  Sevsudled
ThHi&sIuUHID

QB system, the maximum magnitude of the measurement may
be 90° and measurement is taken clockwise only

QB wepuie sar@lyssuuin sidsuls Ceram oerey 90° w@b
oD SareiBhsmar sy fasulld WL HCWL ahHissliu@LD )
Both WCB and QB system, the minimum magnitude of
measurement is 0°

WCB wppid QB Girewm® gpeplgid sam® @ sstiun Ganhsurs
Ganewr seray 0°

(3) only | (B) (2) and (3)

(3) v Ow (2) wpmid> (3)
(1) and (2) (D) (1) and (3)
(1) wppe (2) (1) wpgo (3)

Answer not known
cflenL Qafiweildana

In which of the following compass graduations are engraved erect?
eThg srbuelled GMastulL eTpsgiset CHrms QegdasiulgudmeEh ?

(A)
©)

(E)

Prismatic compass - \A?)) Surveyor’s compass
WMNFCol1gé smbuev FGeuwiie Gmbley
Theodolite (D) Sextant
FHCurGLrenevL_ _ Qesgem’

Answer not known
eflen Az flueidane
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3. When the lines form a circuit which ends at the starting point is

called

FrGeu (Sasrrﬂ)\aaeﬂ < fblss @LsHGatu (gptq_mﬂ)mnsu SIBHS

eTETmEnL&EILIHEDS)

(A) Open traverse
Wigefléam Lmreurme

(C) Intermediate traverse

Qe LUl L L greuied

(E) Answer not known
eden. Az flwelcrena

4. The readlng 18 taken oy dlrectly seelng through the top of the slass o

1s done 1n

ﬁ) Closed traverse

PeeUDD Lymeuie

(D) Both (A) and (B)

(A) v (B)

LTS @G Sienwlilbd o erer ul'_l_asg';glsiﬂ Q_g,aﬂu_lrreb DIETEY&HAT 6THE UM

smbuedlé® LgssliuBEng ?

(A) Prismatic compass
@flevCwl s srbuev

(C) Trough compass
ool &MbLIGL

(E) Answer not known
aflenL @gflweildene

ﬁ) Surveyor S compass

FTCeuwiey &mblIGn

(D) Both (A) and (B)

(A) wppis (B)

"5.  The graduations engraved are inverted in
ahs snbualiey serey GHLALUULL ersgisadt saadiprs Cagssiul {

LEseD
A) Prismatic compass

Wflev Gl g s smbue
(C) Trough compass
LJoold &MDLIGL .

(E) Answer not known
eflen Qgflweaiidane
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(B) Surveyor’s compass
grGeuwinen smbuey

(D) Both (A) and (B)
(A) wpgio (B).



In surveyor compass the magnetic needle floats freely over the

giCauwii  ambuealldy ———— Bg anhg oadl s Cugib Geemped
g5 s
(A) Prism
Aflgb
(B) Graduated ring
SIETe&ET GHSSULLL GUMmETWLD
(C) Tripod
g6 TLILITL.
SO Pivet
] FLPQID e
(E) Answer not known |

ellen Gsflwelldeana

The dimension families are specified as
siaraifsatlen @RbuUrseTs GO LiuGeg) ?

(1
(2)
(3
(4)
(A)
(€)
(E)

Radial
Angular
Linear

Polyline

@@ . B e

(2), 3), (4) (D) (1), 3), (4)

Answer not known
aflenL Ggflweiidena
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8.  Which method is used for plotting a traverse survey in compass?
smbuedled Lymeuiev #TGe a1 WewD epad ewwutiubhidpg ?

v{A) Included angle method -
o | Coment @'m,r_r) '
(B) Paper protractor method
sMéls ABHEGSHD (P
(C) Rectangle coordinate method
Qecueus @radlaaTiy (pem

(D) Graphical adjustment method
cumrsame FNbslised perm

(E) Answer not known
sflan Qg flweiidana

9.  Which of the following variations are due to magnetic storms?
ehs euand gmieiler wIMUNTH &MHS Luwaamd ghuBEDg ?

(A) Diurnal variation (B) Annual variation
Slergl wrmur@ eu(ELMBE T wrmur@

(C) Secular variation \ﬁ)) Irregular variation
griupm wrmLrf yHo wrmur@

(E) Answer not known
eflen GsMweicana

10. Find the magnetic declination if the magnetic bearing of the sun at
noon 1s 186°

pausald (noon) ghlwelar CusQangs Qufits oearg 186° oe Gmbsmed
Sigar Cuslarnys ydlalGCaragamer ey dse b

Vb ew ®) 6 E
(C) 16°S ' : (D) 16°W

(E) Answer not known
eflenL Ggfiweildens
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11.

Which stations are affected by local attraction?
Saranib ahg vCLagaile Camssd miliasarméd unduuen bgeararg) ?
Sl No. Line FB BB
 eu. eraw. Gam FB ‘BB
(a) AB N 46° E S 46°W
AB N 46° E S 46° W
(b) BC S60°30'E N61°30'W
BC S60°30'E N61°30'W
(c) CD S10°30'E N9°W
CD S10°30'E N9 W
(d) DA N 79° W S 79° 30'E
DA  N79°W .- S79°30E
(A) (a) and (b) (B) (b) and (c)
(a) wpp> () (b) wppd ()
SO ©amd@ () @ and (2

(E)

(©) wpmid (d)

Answer not known
sllenL Qaflweildbane

(d) wppid (a)
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[Turn over



12. The more accurate method of plotting a compass survey
smbuay FTleuerw S L BHeugharear Wlaeyb glwedlwbres (pap
(A) Parallel meridian method
@) enamTimes @mlﬂ!q_mé:)%.@mﬂ)
(B) Included angle method
@en@ el Caremr (panm
(C) Paper protractor method
sndlg UEIT_IT&LiT (pep
\A)) Rectangular co-ordinate method
Qecucus @midlenanTliL (penm

(E) Answer not known
sllenL Qgflueilcvenay

13. Identify the local attraction source compass survey
smbus FTlau—1ld Carssd L rTéegeybasnar snfeaThisamer Sam{H Gy

(A) Building ﬁ) Iron lamp post

&L gL 1D Gy oflend @ sbLib
(C) Tree _ (D) Plastic

LDJLD Qemmaivig &

(E) Answer not known
cilenL Ggflwaicrena

14. Convert Q.B into W.C.B. N 20° W

Q.B Smpesy W.C.B. vrpms N 20° W
@ 70 V) 340°
(Cy 160° (D) 20°

(E) Answer not known
clilenL Cgflueiideney
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15.

16.

17.

If the fore bearing of a line is S 43° 30" E, its back bearing will be
@ Cemigenr aperQudln S 43° 30' E arefled <ige e wifi
%@L'D. |

jA) N 43° 30' W o (B) N 43°30'E
(C) S43°30'W (D) N 36° 30' W

(E) Answer not known
cllen Qg flweflaena

Fore bearing of line ‘AB’ is 60° and that of BC is 130°, then angle B
18

AB Ln;_f@m; BC Canpsefienr .@pdﬁmm‘u Gufits 60° ooy 130°, aafle ‘B’
Carent emey

@) 50° VB 110°
() 190° , (D) 240°

(E) Answer not known
cllenL Cgflwreildensy

Convert whole circle bearing of 210°30" into reduced bearing
appeu Quifli 210°30° - eow Quiyey Gwfin s wrHms?
A) S30°30'E VB ss0° 30w

(C) N30°30'W | | D) N30°30'E

(E) Answer not known
clen Ggflweiidana
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18. In quadrantal bearing system, bearing of a line varies from
- amed eul L Guilis gpenpudied, Cul sjere| ereusuera) rmiLiH&ma) ?

(A) 0°to 360° (B) 0°to 180°
- 0° s 360° B 0° s 180°
ﬁ) 0° to 90° (D) 0° N to 190° S
0° apged 90° 0° N apsed 190° S

(E) Answer not known
aflenL GAgMlweldans

19. Write the bearing of line AB and line CD
- AB wipmib CD Gar@sefler GLufmes sar@ilgésayn

74° 30'
& A @) =
39° 45'
D

(A) 219° 45 and 285° 30' VB 285° 30 and 219° 45'

219° 45' wpmid 285° 30" 285° 30" wpmib 219° 45'
(C) 285° 30" and 129° 45' (D) 129° 45' and 285° 30'

285° 30" wppid 129° 45' 129° 45" wpmid> 285° 30°

(E) Answer not known
eflen Qgflwefcreancy
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20.

21.

22.

If the fore bearing of a line AB is 35° and that of line BC is 15°, then
the included angle between the line is
AB & BC Ganpaefan gparemd Cufin 35° wpmin 15° wugn. AB wppio
. BC Garpseflear o Garenr sierena) s&mHIN g ésay0 2 '
(A) 20° (B) 50°
YO 160° (D) 230°
(E) Answer not known
erL Ggflweildvene
Instrument required for levelling is
L serdands Aeleugn@ Caaeuwnar s(rpell
(A) Tacheometer (B) Theodolite
CL&AGumBL_LiT FHCwmLenar
(C) Plane table ﬁ) A level instruments
HET DETHEMBHLI LIHENS WL L HeEmed &(Hedl
(E) Answer not known
cflen Qgflweiidene
Profile levelling is usually done for determining

HQrmenud Geeuddn (LssCHMHY LLL HaTsEams) aTghans: UwemLHE D ?
(A) Contours of an area
@ ugdullen.gw 2 wurs Camiyamean samhiiliy&s
(B) Capacity of a reservoir
@i Bi&Casasden CareTarere, &mewr
(C) * Boundaries of a property
@ Clergdlen erevencvenid &mewT
ﬁ) Elevation along a straight line

Gt Gammu urensudled oL L 2 Wb Sremr

(E) Answer not known
ellen Ggflwueiidbana
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23. What is the smallest graduated division in levelling staff?
wLL oersanad GCareller s ADlw sereyls Giley

" (A) 05m (B) 0.05m
0.5 Su L 0.05 ScLi
\/(3) 0.005 m (D) 0.0005 m
0.005 B 0.0005 Sr i

(E) Answer not known
clen Qsflwelcorane

24. In Rise and Fall method, the staff reading is greater the point is at
L. 2 uIfe) WHPHD FTPE] (PN SETESLIg0 ULMI—6 (L L  HaTsassCarad)

TOEHS 6T 2 WIDTE BHHsMd Sibg el yereall ——— o8 B(é @D
(A) Rise ﬁ) Fall
2 WIm6y SThey
() Equal (D) Identical
FOLD #Cr wrdlfl

(E) Answer not known
cllen Qgflweldvena
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25.

26.

In the case of levelling across a river or lake, the levelling used
@m B (oeg) gl @néGs eabs Gewednm (DLL  HaT&E®S)
vweTuREsLILHEDg ?

D)

(E)

Reciprocal levelling
QrafluCrrésed Gaeusdin (adfien L L DieTsens)

Fly levelling
SUaner Geeuadn (ellenrey WL BeTéHans)

Check levelling
sanilsens deeueiin

Simple levelling
eraflu Gleveusdira

Answer not known
cllenL Ggfiwelicena

Back sight and fore sight readings are taken at every set up of

level 1s
paubleun(p Qeeualim HepUIgyD (I L eTsemns Hevblibdad) Nerumieney
WHMID (LPETLITTenEy SeneliRaer wl HiGw er(H&@ Qeveued (DL L HaTHens)

(A)

B

©

D)

(E)

Check Levelling

Qs Qaveuelin (sanflEans L SeT&ens)

Fly Levelling

celilener Gaveuediiy (alenre] WL BeTEms)
Simple Levelling

A6t Glecuadis (erefl WL L eTEens)
Differential Levelling

Caupur’ () Qeeuadlm (Ceugur’ (h WL L SeTHens)

Answer not known
cflen QgMwelldvena
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27. What 1s the shape of contour lines in case of a valley?
@@ UdTergsradlanen GOla@D ararl G Car@pisetler aulgeuld erear?

(A). U shape VB V shape
"y euig@ulh o &l GuigeuLd

(C) W shape (D) O shape
LGleTyy, GulgeuLDd @ GuIgeuh

(E) Answer not known
aflenL Gzfwalcrensy

28, ————— are imaginary lines joining the points of the same height.
. g6y 2wpdes o@miw qmefﬂaaanm @mam&@m shUemens Ga;rn_Lq_g)@ ’
' — et Gluwr. : ’

\ﬂ&) Contour Lines (B) Relief Lines
st @i Canpiser fleSt Camrpser
(C) Survey Lines : (D) Grid Lines
&#TGeu GarHser AR Car@psar

(E) Answer not known
allenL Ggflweildend
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29. Which of the following are correct about the methods of contouring

by spot levels (Indirect Methods)?

Spssamcupmer aanet evum. Geeud (edmps pepm) gpelons smerl (B
uTUNISSILGHL (pepaad Fllurarma ?

(1) By Squarés
(11) By Cross Section
flymev Qasaen wpenm
(111) By Tacheometric
QL&CanGl Mg wenp
@ “@only
(i) v ECw
(C) (i) and (i11) only
(11) whHmw (11) v EGCW
(E) Answer not known
eilenL Qg fwelldvana

(By (1) and (1) only -

@) womd (i) v @Cw

\[ﬁ) (1), (), (111) only

@), (i), (i) v GGw

30. If the lower value of contours are inside the bent or loop, it represent
Gophs wHLuTer srerl @, euamareiler oidag eumares sHBler o I Lpd

Swhsned, e GHILUS @b
VA Valley Line
LIGTeTS S TEHE
(C) Saddles
ened s (b

(E) Answer not known
aflen GgMuwslldana

15

(B) Ridge
OaneLP& (h
(D) Plane Area

SLOL LTS LIFUL
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31. The vertical distance between two consecutive contours is called as
Gram® DQsshSgeTer srar Gisaflar @aL Cu o dter CekiEGss o wgb

ererUU(HiD.
“'(A) Contouring (B)’*"-ContO'ur Line
e (Bl snal_ @ Cam(
\AJ) Contour Interval (D) Horizontal Equivalent
sram_@m @ Gleuaf flenLwr L Hlail

(E) Answer not known
aflenL QgRweldeane

32, "Two contours of different elevation do not cross each other except in

the case of ) .
sellisg @rav@® areil @ GQeueuGoumy 2 wrsdd qeerm qam
GnsE&EH @omod QFdeib.

(A) Saddle
RS &6

(B) Valley
LICTETS & TS,

ﬁl) Overhanging Cliff
geuit Caprudli Feillien (Qgmhi@h wWah)

(D) Vertical Cliff
Qerugsg A6 (Was@)

(E) Answer not known
‘ sllenL Qgflwueicrena

387 - Surveyor 16



33. Volume of earthwork is calculated by

e Cauamauiler sar djaTey ——— o sarTsS LU DG
(A) Trapezoidal Formula | (B) Prismoidal Formula
= CQrudemiL e @adlyn UiflevsmiL & @S Hrb
\/é) Both (A) and (B) (D) Chezy’s Formula
(A) wpmb (B) GremmHib Qeeved) @sSH yb

(E) Answer not known
dlen @z flweiideand

34, Prismoidal rule is also known as

tifldoomie @ efl§l ————— erammiib SPP&SEULHEDS.
%ﬁ\) Simpson’s Rule (B) Trapezoidal Rule
Slsaten algl LQrolemic e gl
(C) Curvature Rule (D) Eulers Rule
: aueneray aldl ‘ g ehd

(E) Answer not known
cilenL Ggflwsildwena
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35. Trapezoidal formula for calculating storage capacity of a reservoir is
@i BisCsss Gy Qaratdipaysarar 4CyulemiLd N4 (sfleus chdl)

%A) V-_—- h Al ;An +A2'+A3...?{‘-Anﬂ1"‘ :

A+, Ay +As. + A,

V=h

M V =§[A1 + A +4(A, + Ay +.)+2(A, + Ay + )

1% :%[A1 +A, +4(Ay+ Ay +..)+2(A; + Ay +..))
A=d(h, +Hy+..h,)

(D) A =Average ordinate X Length of base
A = gynefl gy ing.Car’ X oy sserser Berd

(E) Answer not known
clienL Ggflweileveney
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36. Which among following can be determined by contours?
STl epewns Spssar_euhmner arenaubudamd sl flu (pgub ?

(1) Drainage characteristic
Glg ST LGt &eT

(2) Gradient

Fmiiey
(3) Ground profile
seny aSleugbd
(A) (1) only (B) (1) and (2) only
(1) b @Ew (1) womib (2) wLEHid
- (C) (1) and (3) only D) (), (2 and @) only
(1) whpo (3) WG (1), (2) wpmo (3) wLLEW

(E) Answer not known
eflenL Qaflueildana

37. Which among the following are the uses of contour maps?
EDSSEHTLUDMIET ecTenel SMem’ (BT euenFUL BISET6 LIWLIGTHETTEUET ?

(1) To check the intervisibility of points
' B QLasepsda Cuwurer yatur® by

(11) To Locate watershed lines
B AACWLL g ener saTL Bl

(11) To calculate velumes of reservoirs
ErsCosanseafar Qametatatey smem

(A) @) only (B) (ii) only
| @) or G ' (ii) e G
(C) (i) and (iii) only VD) @, () and dii) only
(11) wHmib (111) wHb (1), A1) wHpmb (111) wCEb

(E) Answer not known
cflen Qgflwelldana
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38. A line lying on the surface of the ground with uniform inclination to
the horizontal at all points on it 1s

sigen Gugieatar emarsg yeeflsefigud, daLés Cerl@Len @GU §r1rrafr
- gifleyar senrruriides siwwwn Gsrireag) _ :

(A) Vertical Contour | (B) Horizontal Contour
QriEGSg STl (B HepLol L smreml (BT
\[C) Contour Gradient (D) Plane Area
sme_ @i efley ' SLEHL TS SaTLD

(E) Answer not known
aflenL Qgflweiidvens

39. For the purpose of surveying in a general topographibél work with -
the scale of 1 em = 100 m or more suitable contour interval is
1 cm = 100 S wdwg SigH@n Cued eréamm etals S G 6

Qurgleuren fleo 2 (el a:rrrrgbg, ueells@gl Qursgwren g wgs Gasml ()
(&Tem (i) @ea_Geuert - -

(A) 0.2to0.5 (B) 0.5to02
0.2 apsed 0.5 5 euenyy 0.5 s 2 5 eueny
(C) 20to 30 ,[D) 3 m and above
20 g 30 B sueny 3B opmd 2FHE G

(E) Answer not known
een QgMwefdena
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40. The contour interval for general topbgraphical map can be computed
by the following rule
@ Qurgieurer Hlouugly eumruLsdbarer srenl G e Geuall Epsaem
eldlsaflanuig sameSlLiu@pgr o

A) 25 m ®) 45 o
Number of cm per km Number of cm per km
25 8 45 S
BLOUT U Qg 5/8.15 Bhur S Qg.5/8..8
©) 50 m D) 55 m
“ Number of em per km Number of cm per km
50 8 _ 55 S
- plbul 0 Qa.iS/a8 _ LTI N Q&.5/4).8

(E) Answer not known
sllenL GQgflueildana

41. Which is the main parameter used in pseudo-ranging of GPS?
GPS-er Cunallg Ggnepaa; srammelld LWATURSSILIGL (PESW ieTaym, ag)?

‘AX) Time (B) Distance
Cpirid ST

(C) Velocity (D) Frequency
CGeousld - oglrCeusr

(E) Answer not known
‘ aflen Qgflweildeana
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42. Which signal indicate the functioning of the space segment in GPS?
9.1 9. erel efl@rGeuaflls feflelr LweTuT L& GHESD @dlas ?

_\/A) Navigation _ (B) Space
' anf Qeqogmears " eflerQeuaf
(C) Control (D) User
s Huum_{ LiwIeeTi

(E) Answer not known
e Csfleldana

43. Which country developed the GPS?
’ eBl.1.are-gg 2 (haunddlw B ergi?

v Usa

wy.erev.gr (=) 2QwNés medu prpser

(B) India
@pdur

(C) Russia
@G

(D) Europe

wGrmis (1) gGrmuur

(E) Answer not known
alenL Qs flweiidane
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44,

45.

Which is the most obvious sources of electromagnetic radiation for

remote sensing?
Qsmere o awieysarar Weejb GesefliiuamLwner Wersrss sdireiss gyacvu)

er5)?

(A)

VO

®

The moon | (B) The earth
Hlevay LS

The sun (D) The sea
Gfwen : HLe0
Answer not known

allen Qgflwueiidana

Arrange - in sequential order of the following basic processes of -

remote sensing.
Ggrene o emrireflen &pssamL SigliueL Qewudurhsaear euflansliuRsHEHs.

1.

(A)
(©)
(E)

Transmission of energy from the source towards earth.
epesdladimbg Lblenw Crredu gdnd sLGsa.
Interaction of energy with the earth’s surface.

yefluller gty e g hmeden @lenLaflenan.

Detection of the reflected/emitted energy by the sensor.

aglQrrefldsaiul L sdag o llptiuc L yhnalaner 2 emfluflem epeld
semL_flGe.

Reflection from the earth’s surface to remote sensors.
q@ﬂuﬂm urtnbedlmbg Qgrene Q_Ga'srrﬂa;@aa@ adlelprailSsed.
Conversion of energy received into electronic form of data.
Quplult L yhoea LETaTan 6ulg6 SISEETTES WMDHmISHED. -
1,2,8,4,5 v® 1,2,4,35

1,4,3,2,5 D) 1,4,2,3,5

Answer not known |

elenL Qgfweildena
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46. The aerial photograph made with the camera axis (or) optical axis
coinciding with the direction of gravity is known as

galliuL s smeilllar oiFes oeg  ealdlud  iFsrary  yellmriys

. gesyLen el Heawld ahssiu@n eumer eefluuld  @eieurgy

Siepsaliuiidng ?

(A) the oblique photograph ﬁ) the vertical photograph
smiyCamrant gafliiuitb Qeiugsg Hevew gaflliuLb

(C) the stereo photograph (D) the tilted photograph
puufores gefliiuc b smbeyBlency gpaefltiuiL Lb

(E) Answer not known
elenL Ggfweldena

47. 'The line drawn on a aerial photogrammetric map to represent the
track of the aircraft is known as
eurensll uragenwds GOGL eumen gefliur Hlo enses Hlonu s
cuenTwupid Carl @eueurn anp&slILBSDg ? .

(A) the focal line VB the flight line
GAwg Cari aunanasag Gam

(C) the nadir line (D) the exposure line
srpuyereflis Camd eefl Qeuefiuum’_H& Carh

(E) Answer not known
eflen GsMwaldeane
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48.

49.

Photogrammetric imaging is a method of recording a _X dimensional
view of a _Y dimensional object scene. Where, X and Y are
gafliiue flo sasams Carpmmeanssonarg e Y uflores Qurmefien
sr_dlleen g - X uflvrans Camposded vdey Qsuyb @@ wWenwUTELb.
@ue. X wppo Y eyeng
(A) Three and two respectively
weonGw epaim LHHD Gl PGS
ﬁ) Two and three respectively
pepCu Gram® wHpID epD SbGLD
- (C) Two and two respectively
wopCu Grar® whpid Grarh @b
(D) Three and three respectively -
wepCu apany LHDIL LPEDI ED
(E) Answer not known
eltenL QgMweildwana

Which act as a medium of transmitting information from the target
to the remote sensing sensors?

Basdldlmhs COsmane o auie] 2 ami&EEEE SHUOEMETES GLSGID DIl &LOMS
QewduBeug erg ?

(A) Atmosphere | %B) Energy'source
cuetloaiTL euLd DD epeDd

(C) Wind (D) GPS signal
STHD) : ‘ afl. 19 .eTe (FHlans

(E) Answer not known
eilenL QgMweildena

25 387 - Surveyor
[Turn over



50. Spectral responses measured by remote sensors over various
features is referred to as
uGeum (Yyellwed) emsefier WBg Ggrena o amflsarmd eereflLLED
. SIEIDTENE GIQHED&ET Geucimm GOIUALLLES DS )

(A) Spectral windows ﬁ) Spectral signatures
SIGHLDTENOF FTETIIIEISET Si@ewrae Spliysear

(C) Spectral reflectance (D) Spectral emittance
S erdlbrmeafiuigse Slamewrene 2 L8lpSlmer

(E) Answer not known
cflenL Qzflweidane

51. GPS satellites broad cast signals from space that are picked up and
identified by GPS receivers. Each GPS receivers that provides
ey Qewpenss Comatear olamafladigmbg Hoamdsmar A.ereiv
f&euraer ngueug,m@m @;@Gug,,m@m gafluriiydlpg. @m@@.lrr@ 9. 66
MNfeuis@End Gomards Qarhsdng. .
(A) Latitude and Longitude only
flerLaueny whmib Wn{Heueay oL HLD
(B) Latitude and Altitude only
flenL_eueny WwHOb 2 WD Wi (Hib
(C) Latitude, Longitude and altitude only
Hev_cueny, AphHieueny wHMD 2 wWFD WL HID
VD) Latitude, Longitude and altitude plus time
flen_eueny, Wp@euey, 2.umb wHmbd CHab

(E) Answer not known
aflen @zflueildana
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52.

53.

Which of the following are advantages of GPS?

Epsasameuphnier e.19.eTe — 6T BETEIEET Greneu ?

(1) It is affected by rain, wind or reduced sunlight B
@& e, suhmib wHHL Geopeurar Gflu deeflgsd %aﬁmeu‘r_r)ﬂ)rrsu
unflasrinBng

(11) It provides accurate 3-dimensional positioning information for
natural and artificial features
Bs @upes LHnL GFuphamss spuTHsaier goelwwrer wpriufomemr
LS seaudsmans Qsrhasng

(111) Its position information for natural and artificial features serves
asa prlme input to GIS

Qubers  LHMID Qeupess gt seflen @g,aﬂ @l_g, g,a;eusua;m
ehl.en.6T60- 5@ (b (psHw 2 dtef(h L@

(A) (1) and (1i) only ﬁ?)) (i1) and (iii) only

(1) vHmw (11) LLED (11) wpmb (111) Lm_®u3
© @ and (111) only - D) (11) only

(1) wHmb {iii) wI Fb (11) wr Hw

(E) Answer not known
eltan Qaflweildame

Which works on the principle of the measurement of distance
between the receiver and the satellite?

g Seeummdsgn | deupenss Can@Eps@d . @oLluwure  sirsos
el Hd CamLim e oiig Ll Q&wwu@aﬂmgﬂ?

(A) Theodolite (B) Digital Theodolite
SCwmane gl L e FCwmLenevl
(C) Total station ﬁ) GPS
CumLeé avGLagen &9l.19. ereiv

(E) Answer not known
clen. Asfwcildame
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54, Who operates control segment of GPS?
GPS -ar s _@uurl @ Gfelamer Qud@eug wmi?

\)621) US military (B) Russian military
<dwh&Es Trameud Tei%WI TTemieuLD
(C) Indian military (D) United Nations
@ndw gramied &l BrTHISET -

(E) Answer not known
dlenL Qgflwaidane

55. Which object launched specifically to orbit the earth for GPS?
&l.19.erev-eb Lflenwid spbleur ereutiu’ L QumneT erg) ?

\KA)‘ Satellites : (B) Receivers
GeuhenasGandradr DI MGU Ml el
(C) User segments (D) Control units
wwert Qfleyser sLHUUTL( De@ser

(E) Answer not known
allenL GQgflweilchena
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56. Which instrument is a combination of EDM,. electronic theodolite
and microprocessor?

EDM, eesigrefls HCurenal LDJDQJLD @nma;@r;rr n_cﬂqrr&&rr av;ba%]u_lmmrrfﬂem
gl (hé smel e1g)?

0

(©

(E)

Total station (B) Tacheometer
CumiLe evGLagpen

Distomite (D) Tellurometer
igevGLTemwL

Answer not known
cllenL. Qgflueilency

57. What is EDM meant for?
EDM aérugen sifigsb eremer?

(A)

v
©

(D)

(E) -

Electronic Data Measurement
ervsLpmefls Cuim GuagiClwer
Electronic Distance Measurement
eravsLeild 1gevL e Gluagillwem
Electronic Digital Measurement
as_rrefls gl L GapioweL
Electronic Data Meter

erevgL_grefls G m S

Answer not known
cllenL. Qziweildame
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58. Which measurement can be able to read electronically in manual
total station?
asapenn Gl muCSLaspasﬂco ThS cmm@ﬁ@ Weangmy euigeiley WLEHGW

Uig & (PIg U ?
(A) Horizontal angle (B) Vertical angle
Hen_ol L& Camewtid Qeriigsas Careand
,/(C) Slope distance (D) Co-ordinates
' smla] Cgrenaay <D LI IS T '

(E) Answer not known
ellenL. Ggflwieildency

59. Which of the following measurements can be taken by fotal station?
SpssaL sareihisafles GLm L6 vCLapamie) TH&S (PyUmes Teneu ?
(I)  Angular measurements
Garent jemei(H&HeT

(II) Linear measurements
B seteliGadr (HL.werey)

(III) Elevation measurements
UL feTei(H&eT

(A) () and (II) only (B) dI) and (III) only

(D) wppw JI) Lo (ID wpmwb (III) v @Go
(C) ) and (IIQ) only \/6) (D, (T) and (III)
(I) LofmiLb (III) LU HID . | (D), (I Wb (IH)

(E) Answer not known
ellen Agfweiideane
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60.

61.

What is the most precise instrument designed for the measurement
of horizontal and vertical angles?
eoLwl L whpd  Cemgsss Cerammasmer  amellheughaner  lad
gloalwwmen smedl 6Tg? _ .
(A) Survey chain (B) Dumpy level
grGeu Frudled] L b1l Qeveued
\/C) Digital Theodolite (D) Telescope
gl é SHGwim_anel QgreneCrmsd)
(E) Answer not known
cflen Qgilweiidane
- Errors which are not eliminated by repetition method in Theodolite

are .
AGwm_amaliger Fmodu deound wepulie sf Qelw Guens Sepsdr
TG ?
(1) Slip
seup (or) Wenyp
(1) Displacement of signal
mgansuiled Hleped wrhHmid
(111) Vertically of vertical axis
QFkIEsg iFs CFkGSsTs

(A) () and (1i) only (B) (1) and (ii1) only
(1) wHL (1) LD (1) womb (111) I Hid

(C) (1) and (iii) only | «5) (1), (i1) and (iii1) only"
(ii) wpHmb (1i1) wi @b (1), (i) womb (1i1) w Gb

(E) Answer not known
cllen Qgilwueideana
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62.

63.

64.

Which one of the following temporary adjustments of theodolite is

done to eliminate parallax error?
GCsmbm wrpurh  Yewew  BEGauSDHE ﬁ@mrr(‘él_rrma)l_tq_aﬂ g,,r_r)asrreﬂea

FRlQFsDh, SpsamLcuphdler panm HpG&Hnh? .

(A) Setting up (B) Centering

2ienoey LFgD @WWIURSSD
(C) Levelling up ﬁ)) Focussing
' UL UUGSSS0 Gefenowid

(E) Answer not known
ellenL Qgflweiléwened

Tt is the operation to make the vertical axis of the instrament traly

vertical and pass through the station is called as
smellllenr Qerigss s o arewwns Qek@ssns wrpd, Blaawsder
aulfluings Cedeugharear Gawd @eaiaumm mpsstiuBEDng

(A) Settingup \'ﬁ?:) Levelling up

@SS Gleeuedhl L
(C) Centering (D) Focussing
@LULLHESHD Cunsadlm

(E) - Answer not known
cllenL GzfMuefidana

Rotating Telescope in horizontal plane about. its vertical axis is
called

fleoLol L § geargdléd spib Gareew Crpraduler CQokti@ss SiFs eTeueummy
SanpsaliuBEma) ?

v

Swing (B) Centering

&6k enwiliuhisgen
(C) Plunging (D) Transiting

STPFED g FTesmentlig s

(E) Answer not known
eflen Qgflwefdane
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65. The arc equivalent to angular value 05" for a line of length 100 m 1s

66.

given by the formula

100 8 paw Qaran Camigparer Gamemr wduy 05"-—HE swwrer el
GHEETD @eueurn QErHsstlGSE g ?

(A) Radius x arc length
<rid X efléy Hemid

ﬁ?)) Radius x angular value in radian

<7 X Gamenr wdliiy Griguieid
(C) (Radius)2x arc length
(rb)2 X efléy Hemid
(D) Radius/ arc length -
< / el Ferid

(E) Answer not known
ellenL Ggflweildena

How many methods are used to prolongation of a straight liné?
s CriraGamigean B lng assmar (panpasar LweatlRissliuGEng 2

@ 4 VB 3
© 5 - D) 6

(E) Answer not known
cflenL Qgflwueiwena

33 387 - Surveyor
[Turn over



67. Angle between the preceding line and the succeeding line is called
(perarmed o arer GCamigm@hd hss Casmniyh@and G Cu o der Carard

Qeucuny empsatiLBED 2
“{A) Direct angle

CrirsGammentid
ﬁ)

| (E) Answer not known
eflenL Agflweldena

Deflection angle
el Camramrd

| (B) nght angle ' LS T

GerGsrantd

(D) Rotation angle
Fmuy Garemrid

68. Angles measured clockwise from a backsight to the previous line are -

" called as

wenemnd o erer Gamligd @mBE Swsny s&pdled betumieaneuuiey ieTE@D

Garemid @eueurm 2ienpssluhidng) ?

(A) Deflection angle
’ el Camenid
VO

(E) Answer not known
- ellen QgRlusiidana

Direct angles
Crirs GCamarrid

(B) Angle of twist
ALy Carend

(D) Swing angle
ety Gamerrib

69.

Which of the following instrument can measure vertical angles with
respect to horizontal line or with respect to zenith? .
oL’ L. Gamlenl  SigliuenLwnssd Qatamp  Sideg  Gevafls
SguumLwrss darar® s wiol L Csremsans le1és vweaTuGibn  &rmed

517
v

(C) Compass
- Hlangsamiiy.

Electronic theodolite
eraslgrefld HGuUM_amer.

(E) Answer not known
eflenL Qgflweidvena
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70. The angle between a line and the meridian measured in clockwise
direction usually from the north of the meridian is called
Gmlﬂqmgagm CgailTI_Lq,ﬂ)@jLD @Qen Cu o drar Camamigens &GasTr &OM
fanaufled SeTés, aupssLIE L@ Gwflqumen ahiggs Garamrme 2i@a
@@J@Jﬂg}] SAMPS&SLILRID

71.

(A)

(©)

(E)

Included angle VB Azimuth of the line
o .GCamend SSiapsdlen GCar@
Base angle (D) Deflection of the line
Sjgriuen Garerld Camig e efeésLd

Answer not known
ellen Ggflwelldana

Loose needle method is rarely used for fixing direction in theodolite
traversing because

SCwum el wrreurflii-d S @Hlas qrev Byd wep wfgns
HweTU(HSS STTeRTd . )

i

(B)

(©)
D)

(B

It is prone to local attraction

@dlé Carsad o Trésan gHuL eumULILETTG)
It is not a method of theodolite traversing
@g HCurLemal grTeTAki—6T ¢ (PMD 0

It 1s not used to determine the bearings of the lines
@sen epad CuilmGarhiaer @GMssiu@heudlaoeana
Bearings included angles not measured

Gufﬂrmaﬂa) @@a;@m &I_GSSI'I'GUGTLD a@a;asuu@eu@somw

Answer not known
e Ggflwelidena
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72. In which of the following traversing no angle measuring instrument
is employed? '
Spargmid s smeduder epebd grreuifln Comew Semeysmar TS

@ueng ? S o _

(A) Compass traversing \A) Chain traversing
SMDLIG (g [meu T Caullerm g rreuirdlm

(C) Total station surveying (D) Theodolite traversing
GumL e esvCLager #rGeauulin HCwrLenel g rmedrdlhs

(E) Answer not known
alenL Gsflweidena

73. +In a closed theodolite traverse the permiissible closing ‘error can be
computed from the formula?

Where,
K — 15 the least count of the instrument

n—1s the number of sides of the traverse.
wraypn HCur el grreufev-@d BgHEsUulL  (phey e
SETHEL LMD GSHTO ?
Qe
K — smed@enn Ssfpperency
n — wyreuien usEnisehen orereanflEama
&) E=Kn?® vé) E=K+n
C) E=K"n” D) E=—F—
(© D) 7

(E) Answer not known
eflen QAsfuaideame
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74. A —  — is a series of connected lines whose lengths and

75.

directions are known?

eratug) Qeroirdfluner Cpirs Camiigamme ,en qu.eurr@l.o @Qw
Hle sierenes Camiigelr ﬁ@&muu_;m Fersenguylh semLHlicmb.

(A) Horizontal line ﬁ) Traverse
fleoLwl . GCarH GG T 6D

(C) Vertical line (D) Straight line

: Qemigss Carp CrrCari

(E) Answer not known
cllen. Gsflweildena

Angles " measured are interior angles if traverse is run in -
anticlockwise direction and theoretical sum is equal to,
GUTeuTeng, &My erdi s&Hdléd Qewudul (h o Garemmisst Berdsiul L
Sigar Hurflliyssafen CorarThigetic &L@g,@g,rrma; @r&:@
where n = no. of sides
n = ussuseilen camanilsams

\/Gx) (2n-4)x 90° B) (2n+4)x 90°

(C)  (2n—6)x90° (D) (2n+6)x90°

(E) Answer not known
eflen Ggfweidana
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76. Which of the following are true about balancing the traverse work,
grreurens eflaligd uamiluie SpsanL erapeu sflwiraranes ?

() -Angular accuracy is higher than the linear accuracy =~ =
Ber serellen gevelwgens Nl Carenr ierellen g@elwib sifswrang
(i) Angular accuracy is lower than the linear accuracy
Fer eralilan gievedlwsans il Comraw enellen gioellwbd Gempeuneng

(111) Angular accuracy is not same as the linear accuracy
for  oerallenr  gowdlwsmsriCGurd  Camenr  erellar  gl@elwib

@mriuddene
(A) () only \ﬁS) (1) and (11) only
. (1) T\ | . (1) Hmid (ia) LI Gl |
(C) (i) only (D) (iii) and (ii) only
(111) i Gud (i11) wpmid (11) WL @b

(E) Answer not known
elilenL Gsflweildena

77. The latitude of a line 1s its projection on tothe — meridian?
@ Camlgen Caliglgull Tarug SH(HeURSERsE —— @aamuns
S| eTESULI(HID SITOMELD. |
VI North-south (B) East-west
aLEG-As0G Aipss-Cups
~(C) North-west (D) East-south
auL&@&-CupE ‘ Aé®-AsHG

(E) Answer not known
eflenL Qgflweildena
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78.

79.

Bowdith’s rule 1s also known as,

Query & efiflepiu @leuaummid Fnpemd?

(A) Axis method (B) Graphical method
DIFE (PEOD ' CUENTEHEMNED (LPEND

\/(3) Compass rule (D) Transit rule
srbuen (Hanssriiy) il g yreéli g e (SLLiy) edldl
(E) Answer not known

eSlenL_ G‘Ig,rﬂugaﬂd)mm

This i1s an indirect method of levelling in which the difference in

elevation of the points is determined from the observed vertlcal

- angles and the measured distances 1s kinown as,

yerafigefler 2 wrsdlew oerar  Ceumum() a;ajsﬁﬂa;asuul'_l_ (OF:2 AT
Canemugeiles @@mbsbd LHNL Tl u L gryhseflelmHgId SToreaiss,
waDsons QEuwucu@ih Qeeusdin @eieumn epsstiLibhdng ?

"(A) Sight levelling

gl Qeveuedml (UMreneu DU L 2eTdheans)

(B) Fore-sight levelling

Curir-ensl Qeveuadli ((perumieney oLl L c"lleT&SGJ)SS)

\/C) Trignometric levelling

g N&Cam@wr s Qaeualn (p&Garar WL SieTéans)
(D) Lateral levelling
- Galpe Qeedn (UssauT () DL eTéans)

(E) Answer not known
cllent_ WgRweildama
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80. A chord between two successive regular pegs on the curve is called,
@@ aumareild 2iBss05s Qran® (Quadn) aarsEldamar E@aTéELh

R

@A)

©)

(E)

mresnfle Femd ereires ?

Long chord o (B) I:ength of curve
Betor pragr cuenarailen Barid
Deflection angle of the curve ﬁ) Normal chord
cuenarefien eila@ Garanrbd FTSTGRT [5iT e80T

Answer not known
aflenL Ggfweiideana

81." Obstacles to chaining but not ranging
S UTTES b BIETES WPLRUITSMe FHLBHSHID sLGemar

(1)

2)

vl
®)
©
®)

()

It 1s possible to chain round the obstacle calculating method
genlenwl  &hfl  Ceullelm Geiw  @uuybd Qeupen searsd
— UMEWINTET (PHDSET 2 ETETE. ’

It is not possible to chain round the obstacle calculating
methods

sl OOl Gedleln Qelw WLUTss —————— uEEWTET
(LPEDDEET 2_eTETS).

(1) — 7 method, (2) — 4 method
(1) — 7 weopsar, (2) — 4 wepsar
(1) — 8 method, (2) -5 method
(1) — 8 wpawpsar, (2) — 5 wepsdr
(1) — 9 method, {(2) — 6 method
(1) = 9 werpser, (2) — 6 werpaer
(1) — 10 method, (2) — 7 method
(1) — 10 wespser, (2) — 7 apepsér

Answer not known
cllenL Qgfluaicrency
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82.

83.

Indian standard recommended

year standard length of

chain kg, degree of accuracy respectively.
@ArHw srsE QUT ———— eI (pge Gauller Batb, eTapL, g flf
Guraipeuhenm Sronafllsss.

(A)
©)
(E)

IS 1482 — 1959 \.(ﬁ) IS 1492 — 1959
IS 1494 — 1959 (D) IS 1496 — 1959

Answer not known
eflenL Qztlweildena

The lines from a circuit which ends at the starting point it 1s known

as

@@ ydatlula Cgrind @@'&ﬁ)@ WL ud euemy zever Gam@ser

(A)

/o

(©)

(D)

(E)

eTan siep&sLubhdns

Open traverse

Sops préems (Hphs WTeuiav)
Closed traverse

el BL &G (PPl 1q ITEUTE)
Traversing

BLEDHEUINWID {1qrmeuTdlr)

Continuous traver
QerLrsflunes bL&ams

Answer not known
eflen Agilwueidana
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84, The index glass in an optical square is

sanamy QerGaramarey smelle GMICH samammy — o5
QurmssLu’ (B BHéE L.
' (A) Wholly brass (B) Wholly rays
ppeugid gsemern Wppeugbd sflrelss:
VO  Wholly silvered (D) Wholly unsilvered
Wpeugid Heveur 7 Wweugih feu @dansg)

(E) Answer not known
elen Ggflweidara

85. The principle of chain surveying is to divide the area is 7
Geulen sTGouufen ppasih Bietemer sansdlL Shssdn_aupdle org Apbsgi? =

(A) Trapezium (B) Rectangle
Fhleugib OFeusuad

(C) Parallelogram : Vé) Triangulation
@ eI p&Carerredwied

(E) Answer not known
eflen Gz flueidene
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86. Match the correct statement :

Qumrmpsss
(a) Survey station

&irGeu euGL age

Base line
SiglinaLs Camlh

(b)

(c) Check line

silurig@n GCarp

(d) Tie line
GIEICREIN

(@ & (o

(A) 4 1 3
(B) 1 4 2
VO 3 4 2
(D) 2 4 1

(E) Answer not known
eflen Qs Mweidane

1.

(d)

2

3
1
3

A line joining two subsidiary station
combined -

gGaeb @p Yaraflsener Qanamrss)
Sjerajsener 2 Mgl Qeldlng

To check the accuracy of the frame work
Wp&GaramsHen goalusams sRUTTESaD

2 o1 eflugriGeneT GhEse D 2 Soydims

End of the line which command the
boundary of the survey

giGeu Hevaowid Hlegdlen &Hm ereene
PUugd Qusen

A line which is generally longest of all
the survey lines

#iGeauwllerm apy L CoumasEnd @Hs
Car® epob g0 uTswTs GNssLLEGSEDS

43 387 — Surveyor
[Turn over



87. Planimeter is used for measuring

WermrefS L LweausS samsdHeudad SpsserL sflwrearg erg

(A) Length
- Berd
\KC) Area
LTLILenay

(E) Answer not known
aflen Ggflweiidana

(B) Breadth

S|FHLD

(D) Volume

ST |66y

88. Generally an area is treated as plane less than
: Wemerenr  &TGay Q&meug,g)@ Gungjeurras £Epasasstm1_ @Gmmg;‘g)ul_& c‘wsﬂm

a;ml_nﬁhq_a;a;uuﬂéilg)gu
(A) 240 Sq. Km
240 sgyy. 15
(C) 270 Sq. Km
‘ 270 gy, 8B

(E) Answer not known
eilenL Qaflueciidvena

387 - Surveyor 44
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260 sgyy. &1

(D) 280 Sq. Km
280 sgyy. &b



89. Pickup the not correct statement from the following Surveyor Work.
erg) hleo emeneuwmerier Ceuener @Bvene erargen aflurar ydlsmsw
Csrey Qewiweb

(A) Field measurements
Sl BieTeysEr eT(hHSHed

(B) Handling of Survey Instruments
&G 2 LIGTERTEISENET M&LITERSED

(C) Calculate the Area and Mapping
uglinere] wHmib HleeueamyuLd QEgea

,Kf)) Site Construction

sL(hwrear Geueme

(E) Answer not known
dllenL Qgflwelldbency
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90. Match the following statement

1.

387

(a)

(b)

(©)

d

(A)

(B)
©)

Base Line 1.

SisuenL GCar®

Check Line 2.
2 mifl GCan)
Tie Line 3.

@lenamtiy Cam(
Main Stations 4,

PS6TELD [HleneyIEISeT

@ @® ©© @@
4 2 1 3
2 4 3

1
1 3 4 2
1

vb s 4 2

(E)

Answer not known
ellen Gaflweildana

FiGeulllelr  apupdliL CS@J@DGU&;@LD

The line joining these points
boundaries of the survey

are

#iCe Qe Geugiigw Q&uﬂm@a;rrt_tq_em"

w&dw yereflger

The line joining the two tie direction
locate the interior

p&GamemsElen T, peramufell(mba)
adlfusan 2 dter Yarafleow Cemiug

The longest survey line. It also fix the
all other survey lines.

Qs
QursCs élmmél;_nggj N

A triangle to the any two pomts on the
two sides of a triangle

W&CameamsSen Sllg.Un&SS e
Qryereflaaeruyd 2 sflewwyd Garliug,

In chain surveying cumulative source of error is
Qaullen #rauuliled gL ® Gmng,g, Yenip erhueug

(A)

(©)

(E)

Fag

AT

Rag

s

Answer not known
ellen Ggflweiidane

- Surveyor

(B) Lag

NeramenLay
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92. Write the procédure of folding of CHAIN.
Qslerer wL&Gs® (folding) unf Gsefleurs e uwiafl.

(A) In front of throw the chain -
Qeulenen (peaGCarrsdl gradl erhlu Ceusr({ib
(B) Spread the floor of the chain
Qeuflenar e (ppeugib uFlll Gleanss GaamEib
XC) Middle of Tally put the hand left and right the throw and then
counting

CLlleww enowinns ﬁ]qg,gd QUL NG 1514;_5@1 @L eswumrd Csrss
Couetr(pLb .

(D) Chain should be tightly

Qellenar st M8 &L Geudm@Hitd

(E) Answer not known
cilenL Ggflwrelicene

93. The end of the chain provided with Brass handles in

Joint.
Qefilafler s e Hggemer cuewetwid AererH —————— Gaamiiumed
QummrEsUULH QHESLW.
VA  Swivel (B) Lap
FLpED enhler Gue e
(C) Grooved : (D) ‘Twisting
Gmeub QPDI&EGSD

(E) Answer not known
flen Qgilwelicvena

47 ' 387 — Surveyor
[Turn over



94. In surveying tacking short offsets can be used

Instrument.
flogdld o drer Gappsuls siyb sarsdl UTTmeuE @D Qg,fﬂu_;wqu_ o _aiTerm
&H(@HeH ———————— G - -
(A) Boning Rod (B) Towel Rod
Gureflii gr Leudd gm(p
ﬁ) Ranging Rod (D) Straight Rod
- Grgrélm g Criymest gmH)

(E) Answer not known
ellenL QgMwueidena

95. If the distance is greater than a chain so ——— - method
adopted.

sb  m Qelean Baseng ol oflsors @pbsrd Epssramid HS
(PenDenu LWeTU{(h&SemD.

(A) Offsetting ' (B) Chaining
S QFL gl (peD Qellefi wpenm
SO Ranging (D) Lining
Grepdlis apenp waoeafli wpenn

(E) Answer not known -
cflen Qaflwafcvansy

387 — Surveyor 48



96. Direct Ranging carried out in following which two method is correct?
Crrg Grgsdm Qeweuded ECpujater gGaaubd @@ Cunmssonear eflaLemw
CaibEs6
(A) Ranging pipe, Ranger

Crgpdlis epLi, Grgpe
(B) Indirect Ranger, Step method
wenps CrEsst, Uy (penn
VO Direct Ranging, Line Ranger
s epad Corigwins, enaer GrEpsm eped
(D) Base Ranging, Tie Ranging
<igtiueme Grepdle, @misE Cressm

(E) Answer not known
een Qgilweildana

97. In ch_aiﬁ survey horizontal distance measured in slopiné distance
using direct method another name is
Qellenr  FrCGeuuiler emieurar @Lmgellds HewliL girsews Corguns
Sjereil Geiiuybd wpeppullen whHlmmm CluwiT erebra ?

(A) Horizontal method (B) Reduce method |
, oLl L (penm GSHODESLILL L FIT (1penD
ﬁ]) Stepping method (D) Vertical method

L &6T (P Qeru@gs pep

(E) ~ Answer not known
slan Qsfluefdane
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98. The instrument used for setting out an offset at a right angle is

called
5[(.98585GMTL_ THS a;@@fﬂ QerGamanm @a;@a;rrswrm 90° seoLions STERTEMLD.
-ﬁ) Open Cross-Staff (B) French Cross Staff
Hinbs Errev-evLm 9@ yem@y lmev-evLiLl
(C) Adjustable Cross-Staff (D) Optical Square
&I QegevL1bler Symev-evLmi C UgED eoEsmwT

(E) Answer not known
eflenL QsMwalcvenay

. 99. The liniiting length of an offset does not depend upon .
@ HeverGarfLen auerunéstLLL Ferd Supdter oifisas e STibss)
K

(A) Accuracy of the work

Geuanauer gededlwib

ﬁ?)) Indefinite features to be surveyed

&M UETLHN Sibsmhsdr e Geaww Ceusam@ib
(C) Method of setting out perpendiculars
QeEiESsMs ADWEELD (P

(D) Scale of plotting
duGaa F 1 sdlen emey

‘(E) Answer not known
allen Ggflwueildeana
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'100. Select the correct sentence is taking out offset.
fearsCanhsedr aREGL epuiled Suwerer rhs eursdluw  slluragns
@\(m&HEHD.

Lo

(B)

(©€)

(D)

(E)

Irregular boundary line, change the direction, centre of circle,
angle difference

Qurship oome Gsrl., Gsriger dHas wormurd, el Lghler
eowwitiyeretl, Camewr wrmLTEH BeeusE@hsE buMEHHSID

Chain line should be provided as important for offsetting
Qeudler enanat ETTLNE QETaT® @meEs CeuamHib

In the object is not visible that time taking offsets
Qummetlen grow Gseafleupn sMrsHedr b ahids Colem(Hid

Entry in field book necessary offsets
Bl arency Lsssse @NUKL daerCan® Csameuipbd

Answer not known
eflenL Qg flwcildena

101. The frame limiting the drawing space, should be executed with
continuous thin line of
auaysd @ smss SLHUUHSSHSH B8 Qemeisflwures Quoevellw
Cam_pLen Geudubhss CeusmRIb. :

(A)

Jo

(E)

0.2 mm (B) 0.3 mm
0.2 H.8 0.3 BO.5
0.5 mm : (D) 0.1 mm
0.5 .5 0.1 8.8

Answer not known
eflen Qgflweildeara
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102. For pencil layouts and working drawings colour papers are
best suited.

Quenfled Caeyl wHpb Qeuridlm Lq_l]'ﬂ'US]FB.I Gunsmmeum@,r_n@
UBTETSSTETSHET WlGa|D bUmESSLTaTg. g :

(A) White (B) Yellow
' Gleudtener LD @héaiT
(C) Light Green ﬁ)) Cream
‘ Qeuaflit Lens ' £

(E) Answer not known
eflen Qgflwaiidane

' 103. The role of a Surveyor is
e, rGeuwifler Ceuenavaer eraLig)
(A) Field work
: So® efitd
(B) Office work
Sigeues Geuened
(C) Care and adjustments of Instruments
s(Heflgener enswineTeug wHmib uFmwildig
‘ﬁ)) All of the above
Cohsam_ meargg b

(E) - Answer not known
der GgfNwueldvane
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104. In a field book, booking is commenced at the page is
direction booking.

sOT Ussesdd sietey @Oluysdt Ussssdlen
@D&asLHLD

(A) Top of page downward direction
usassen G Qmbs Sp Crréd
(B) Middle of line any direction entry
- ubsgden wwsddlBhg ebs UDSHaD
ﬁ) Bottom of page upward direction
g LiuESuiadlmbg Cuwd Crradl @dlssiu@b
(D) Any side entry in upward direction
‘ usssHen abs LpsHanb Cued Crradl @dlsainmn

(E) Answer not known
eflen Qzflweliceney

105. In folding of sheets, folded drawing to be of

LS ldimhs)

cuenTUL STeTgEeneT iy iLfld @nHuns eThs ieTe] @)(HeEas GeuamHibd ?

(A) A size (B) Ag size
Ay siarey Az syeray

(C) Assize ﬁ) A4 size
Az yerey A4 siamay

(E) Answer not known.
dilenL QgMweiidenc
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106. Flat scales are in genérél use
Qumgienrs LT g6 2 drar Sl enLwiman vGaaden
~.{(A) 15.cmlong 1 cm wide (or) 30 cm long 2.5 cm wide
15 Ge.5 Sorib 1 Q.15 sad Hdeg 30 Qg8 Berb 2.5 Qg5 isbd
(B) 15cm long 1.5 ¢cm wide (or) 30 cm long 3 cm wide
15 Q&6 fard 1.5 Q5.8 s sz 30 A8 Fard 3 Gs.18 s
(C) 15 cm long 2.5 cm wide (or) 30 cm long 4 cm wide
. 15 Qg8 et 2.5 GF.8 isabd Sidwag 30 Qe.8 Horbd 4 Qa5 b
\/D) 15 ¢cm long 2 cm wide (or) 30 cm long 3.5 cm wide
— 15 Q&8 Hemb 2 .QG'.LB S| FeDLb cmc,be;u;gj 30 Qg8 Fembd 35 Q& isbd

(E) Answer not known
eflenL @z Mweldena

107. These are tools used to Transfer and/or to measure the dimensions.
SleTe|HemeT @Hs smHed epab Coum @igdléd @hlssa b Ao sieTedayb
@eneu LmeTL(HiADS).

(A) Divider VB Scales
lg- @06 LT e CaHe e
(C) ‘T’ square (D) Protractor
‘T* sv@amui LIrensLoma

(E) Answer not known
cllenL Ggfwelldena
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108. An “Ebdny edge” of drawing board projects from board is

gymuili  Guriged  @imHS

Qsne(pemeng) ?

- (A) 2to3mm -

2 dmpg 3 0.8,

‘/C) 4 to 5 mm

4 Smpg S .185.

(E) Answer not known
eflen Qg Mlwaiidenay

aGurall  erlsy ereueuerey Gy Bligd

(B) 3to4 mm
3 Smhgl 4 18..8.

(D) 5 to 6 mm
5 a\mpbs 6 15.15.

109. Standard size of T; ‘T’ équare blades length as per IS : 1360 — 1989

110.

18

IS : 1360 — 1989 e g T1 “T" ev@anwuer 9Cergar avoLmemLi( Herid

(A) 1500 mm
" 1500 A8,

(C) 700 mm
700 \A..8.

(E) Answer not known
aflen Ggflwelldana

The angle of straight line

. g CrrGsm g6 GCamarib

A 90°
(C) 270°

(E) Answer not known
ellenL Ggflweileene

ﬁ.%) 1000 mm

1000 A.15.

(D) 500 mm
500 15..18.

VB 180°

(D) 360°
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111. Match the following
Gemeumeuareuhenn ClLMHSEIS.

(@) Acuteangle =~ 1. Morethan 180°

@nGanemid “ 180° GuCa

(b) Obtuse angle 2. 180°
Ui ujen Gamewtib 180°

(¢) Straight angle 3. Angle between 90° and 180°
Cprman Camewtid 90° whmw 180° @er_u L Carewd

(d) - Reflex angle 4. Less than 90°
G sramTLD 90° &Gy

@ ) © (@

@ 4 2 3
vB ¢ 3 2
© 2 3. 1
™1 4 2

(E) Answer not known
eflenL Qgflwaeilcensy

W b = =

112. Following line is not an element of dimensioning
Yesreupd Car@isailesr getm enLGwansafii mm ide

(A) Extension line ‘KB) Hidden line

. Brguy Gar@® ) afiCL.er Gar@

(C) Dimension line (D) Leader line
e Quwenflwen Can(p oS Cam®

(E) Answer not known
cllenL Qg Murefdane
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113. Find the number of equal parts MSD{(n)
If one MSD = 2 mm
Least Count = 0.25 mm - _
MSD(n) sw unsusafian canafismsmus sarLHiuie)b.
em MSD = 2 f..8.
el seyarrl = 0.25 .8,

(A) 12 parts (B) 10 parts
12 ursiisdr 10 unsriser
\/C) 8 parts (D) 6 parts
8 ungriser . .6 ursnger

(E) Answer not'known
eflenL Ggfwelidene

114. In comparative scale 10°C equivalent reading of F scale =
sur@rge evCsales 10°C = unpenarfi

(A) 20°F (B) 30°F
() 40°F VD) s50°F

(E) Answer not known
eleni— Aaflwaldene
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115. The length of the Vernier scale will be equal to the length of either

Qeureflwi sjareyGanedler Bard MSD e
FOOTE &) (HSELD. '

parts of MSD.

- weddar fadbe

%&) (n-1) or (n+1) B) (n-2)or (n+2)
(n-1) woog (n+1) (n-2) @wag (n+2)

(C) (n-1)or {(n-2) D) (n+1)or (n+2)
(n-1) sows (n-2) | (n+1) siowg (n+2)

116.

387 -

(E) Answer not known

Sleni_ @g,rﬂu_lmﬁlebmcu

Choose the formula using convert Fahrenheit to Celsius
uryenadl wSlphg  Qeovflusrs brHmegHE — UweTuiHib
Caipbs®

A) C=(F—32)x§ v C=(F—32)xg
C) F= [Cx§]+32 D) F= [ng}rsz

(E) Answer not known
cllenL Qgflweildena
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117. It is a plane figure of four sides, all sides are different and all the

four angles also differ.

B8 @M BIHSILIGD, BlS6r BrenE LGRS wHnib B CHTERTRISET &l

CeumuL L enau.
(A) Rhombus
FMUSHITID
(C) Rectangle
Cecueusid

(E) Answer not known
ellen Agfweliidana

118. Name of Nine sides of Polygon is

geLg ussrgmer CararL. LGasrangdler Cuwir

V(A) Nonagon
] GgrarGsremrd
(C) Heptagon
er(pCamentid

(E) Answer not known
allanL_ GgMwelidena

(B) Rhomboid
Grmoumi@

D) Trapezium
14 Cridlwib

AGD.
(B) Octagon

eramGamanTid

(D) Decagon

LeRTC & menTLd

119. Triangle has all the three sides unequal in lengths. All the three

angles are also unequal.

w&Garenrd ppenn USSRGEED Fowpp Fasmss OQarampertearg. epenmy

Cameniis@nhd F#HowHDEn6.

(A) Isosceles triangle
aGerlgde wp&Camemtd

(C) Acute angled triangle
SiGUL Carenr wpsGamearTid

(E) . Answer not known
cllenL Ggflwefldwena

59

B) Scalene triangle
evCaeilen (p&GamanTid

(D) Obtuse angled triangle

U e Cament (wp&Gamemd
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120. In Quadrilaterals all the four sides are equal, but only the opposite
angles are equal.

BIHSTasaid Breng LUsshEEhHn Foming @@a;@ua DLEMTED GTQ%]IT CamanTibger
ot HiGW FwErs @@5@5w

S
©

(E)

Rhombus (B) Rhomboid
FTISE JLD FerL Qecueusid
Trapezoid (D) Trapezium
Fileus Gumed gFfleusib

Answer not known
eflen Gziflweildena

'121. What is the method of Tacheometry survey dencted by the following

diagram?
CL&sflGunr@Qurfls s#siGoandd Spsar. uLd @oluug ebs  peapenw
EFMTHSS ?
-
S
v

v
®
©

D)

(B)

Measurement of Horizontal Distance by subtence bar
FlisvLemey umflelr Sen_wl L grrsas serellev

Measurement of Vertical distance by subtence bar
guevL ey Lmtien Qeki@ss SISeang siemellL
Tangential method .

CLangamadluch (QgThans) upenm

Fixed Hair method

G&en(® Cap (Hlevew @enlp) pepm

Answer not known
efilenL Ggflweildensy
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122. Tacheometric formula for horizontal distance using inclined sights
through @ is obtained by multiplying

‘@’ oeteurs smips uMrepeuewtl LwatLGES SHeLwlL  girédpsren
CLsHCurtwlfs GsHrb s Gums@Geuger ppb QupuLBFpg ?

(A)

(B)

©)

v

The constant by sin? @
omhled] sin?@
The constant by cos? 6
omled] cos? @

The constant by cosé
wrled cosf

The multiplying constant by cos?6 and Additive constant by

cos @

QumESED w6 082 6, gar L wrihled cosé

(E) Answer not known
eflan Qgflweildbana
123. The subtense bar is used to measure ————— distance between
the instrument station. .
guevLara untr, smell foowusdne Qo Gu sda —— ssos
SjemeflL. LweaTuBSsLHURE DS .
(A) Inclined A Horizontal
FmIhE (H&ELD ' ' Sen ol
(C) Elevation (D) Inverted
o Wil Fsena&Lpmer
(E) Answer not known

ellen Qgflweiidena
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124, —————— rod is a staff which is longer than an ordinary levelling

staff.

———— STEDs5ECand aTarug @@ FnsTraT Qeeudlin oL mliepu (WL L
SHerEmEEGaTR) il Serwren g SHeTsmasCand. :

(A) Vertical
AEDAN T Y
(C) Horizontal

SepLor

(E) Answer not known
alen Qgfwaldensy

(D) Inclined

FMULIGUTET

125, Length of base line in secondary triangulation is given as
GrawLmb Blee aps&CaTaoTSEs DjeTédamnaudlen iy &CaT ger Barb

v 15-5km
1.5 - 5 4.5,

C©) 0.5-3km
0.5—3 8.8

(E) Answer not known
eflent Qgfweiidane

(B) 0.5—10km

0.5— 10 £.5.

(D) 5—15km

O — 1D 4.8,

126. What is the process of locating unknown points by the formation of

triangles?

WwECHTETEISEMET 2 (FeasTd@eausan apab Asfung Lerelaamer sam@iSiyliLiser

CFwdapern eTeira ?
V&

(C) Translocation
LyrenevGlerGsager

(E) Answer not known
allenL Qgflwaelidena

Triangulation
L_am T Tkl (&, G e 6 6br

387 - Surveyor 62

(B) Trilateration
LenpGal L Grages
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127. Length of base line in tertiary triangulation is given'as
epeomd Hleve psCaramonss ojersmasulan, oiqsCarigen Berbd
oTe GuPRSLILHE DG

(A) 1.5-5km | ' (B) 0.5—-10km’
1.5—-5 4.8 0.5—10 &..8
,/C) 0.5—3 km (D) 5—15km
0.5— 3 4.8 | 5—15 &.8

(E) Answer not known
fenL. Gzflweidana

128. .Covering whole survey area with primary Triangulation, but filling
‘the gaps with secondary and tertiary triangulation involves in which
among the following processes?
WY Phel ugdewub, Wb WPECETETLISESD  eTdaaudlarmed
o gremLdlugl. e, @rawLnd  Hlewe  whmitb  epemmmb  Hlene
p&Careronsad ersamsearmd @Gl Geustsamer Hlylijeug 1Gemeu(HDd
Qewdpensalle) ereng 2 areTL&dluig) ?

(A) Central system (B) Quaternary triangulation
G S{EDLOLIL] @GurrL'_i_r'rGuTrﬂ D{ePLOLILY
ﬁ) Grid iron system (D) Well conditioned system
R swime sienwtiy Qleued H@mganeT(d HHenLliL

(E) Answer not known
sflenL Ggfwelicena

129. How many sides are there in Hexagon?
SMRGETamSH N(E, TSSMET LISEHEISGET ?

A 5 (B) 4

\/«J) 6 (D) 7

(E) Answer not known
sllenL Qafiwelldana
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130. In triangulation survey, a structure erected over a station can be
determined as
p&Garamonssd asastld, @ Hoowusddar Bg  @wassILCL

sl ———— eran Srwnaflssaid. -
(A) Signal ﬁ) Tower
fsaned (Ghlens) Leum (Gamypb)
(C) Instrumentation (D) Satellite station
amedl Hleneowild QewpensGaner Hlaewib

(E) Answer not known
sllenL Qgflueiceney

131. In which of the following areas, the usage of primary Triangulation

is done?
Wemeugptb  eTpg)  UGdlsalles pgenemw  (WP&ECarambrss  arsensullie
LweTun( 2 eerg) ?

(A) measuring fields
TvmGemaT Bjerell(HHe

(B) measuring built up lands
sLLOUCL flonsamar Serell(Hige

\/C) measuring earth figure
ublufler 2 (heusens ojereli(hise

(D) measuring unused lands
- uweuBHiSsLLLTE Bleomismer SeTell(Riew

(E) Answer not known
sllenL AgMweiidena
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132. Which of the following features must be essentially incorporated in a
Tacheometer?
e OCLsACumbliir  Aemeu@pd  sLLTwoTel  Sbsuselley, adapoD
2 drerL&dlwusns @mes GeudmhHib 2
(i) Multiplying constant should have nominal value 100
Qumssd wihled @udurs 100 wHours @mes CauaTRID.
(i1) The telescope should be truly analactic.
QzranaBhrsdl o amenwuiicd JaOTSRs A& @) (H5s CeudnhHibd
(iii) The axial horizontal line should be exactly midway between the
other two lines.
SiFs deowlL Garl whHm @Uamr@ @a;rr@a;@&:@' @Gﬁ)l_u_cﬂa) sl
- @m&s Ceuam(i ,
(A) (@) only ‘ (B) (1) and (ii1) only
(1) L@ (1) wpmb (111) wr @b
(C) (1) and (ii) only . ) (1), (i) and (ii1) only
(1) whmd (11) L (1), (11) whHmb (111) wC b
(E) Answer not known
eflenL Gsflueidena
133. Which instrument is used in optical distance measurement method?
<2L11g &6 Qzrenavencl SjeTell (Hid wenpuliled ThHS 2_LIGITERTLD
Lweatu@SSLLHEDg ?
'\A) Tacheometry " (B) Dumpy level
CL&ACurQl Mg LS Qeveuédd
(C) Wye level (D) Modern level
e Glaveued om e Gaeue

(E) Answer not known
eflevL Qgflueidane
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134. The method of Tacheometry commonly used is

Cr&dCurEul Mlld Qungieurs LWETURSSLILIHDL WD

Wf&) fixed stadia system
- Pevawrer Gl wn ey
(B) movable stadia system
SieFwb oG igwim Sy
(C) tangential stadia system
GLemQmeanadlwc evCLiquim eentoliy
(D) transiting stadia system

gpyredl g6 evGLIgwIm SienioliLy

(E) Answer not known
elen Qs fluefNdema

135. Methods of Tacheometry is/are
CLa&Gsr@n Mufler (wpenm&er

(A) The stadia method only
evGLigwm apenn WL Hid

(B) The tangential method only
GLangmeradlucd wpeom L (Hib
ﬁ) Stadia and tangential method
uGLwr whgib Crerdgearaddud wpenp
(D) Inclined method

FMUGUTE (Lpen/D

(E) Answer not known
afleni Qs flusidama
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136. What is the distance of station from the instruments on fixed hair
method, if the line of sight is horizontal with multiplying and
additive constant is 100 and 0.5, respectively and S = 1.5007

L Qumssd wppd Gersas wrhled wepGu 100 whmb 0.5 wHmb S = 1.500
g seyb urimasGsrh fHaLwlLiwrs Gmaen Gurg, Hawwrer Geaearaf
(fixed hair) gpepuder s@mel Hlevawisdler grmb ereren ?

A) 156m (B) 15.5m
1.58 15.5 (8
vé) 150.50 m (D) 150.00 m
150.50 8 150.00 &

(E) Answer-not known
cflen Qg flLiefdena -

137. In a Tacheometer, the focal length of object 1s 280 mm. The distance
from the. object glass to the Trunnion axis i1s 120 mm. Then the
additive constant ‘k’1is .
CLsfGumblLir ewwinfe Qumrmeler @ellwuggmnd 280 mm  syuEb.
Cogith GRlwer (smiigmenar) H&&&GL Cun@pEps@h e riul L gimb

120 mm Csigens wifledl 'K ———— o5 Qmé@Eid.
(A) 0.38 - B) 0.35
JO o4 (D) 100

(E) Answer not known
eflenL Wzflweioana
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138. Theodolite fitted with stadia hair is known as
uGL g QenpsEnien (Gamameufly_cn) gmigw HCwm el L rarg

(A) Transit vernier - (B) Non-transit vernier
Lyreredic. Geureflw | Non-1 gremedc G@.Jrrasﬂu_jrr

(C) Triangulation \ﬁ)) Tacheometer
wp&Camamellwd CL&HGuUmBL L

(E) - Answer not known
eflev GsMlweldama

139. What 1s the Tacheometric equation for distance while the line of
. sight is horizontal and staff is held vertically? L e e
UTreneud CarLreng, AenL_ ol L br&eyib, GOL_ITL (TS EECETD)
Qe ssraeyb 2 drer Curg grsdharar CLEACUNQWLLNE swatur® wrg ?

@ D=[i.)+(f+d) V& D- [ Js+(f+d)

)

© D=[£.)+S(f+d) (D) D=[98+(f><d)

13

(E) Answer not known
eflerL Qgflweildana

140. For a Tacheometer equipped with anallatic lens, the additive and
multiplying constant are respectively :

aongs Geoerdv Qumm@ssiiul L CL&ACUTSL L (m&@ Cersas  wmHled
whmih Gumwssd wrHel weanpGuw

(A) 100, 100 ‘ xB) 0, 100

(C) 100,0 (D) 0,0

(E) Answer not known
ellen_ Qgflwedcene
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141. The angle of dip at a point on equator is
wwsHw Crapsuliled 1411 o eer srieiler Gamew 61a eree ?

v

©)
(E)

0° (B) 45°
30° - (D) 90°

Answer not known
dilenL Ggflwelldaney

142. The plane table is always placed in every station which is parallel to
the position occupied at the first station which is called as
aauCeurm HlenawsHaibd Foger Lwams aiGUNgID aeussULHID, @& AP
Blavaoowsdled esdnbllsstiuc e @ s8heE Qaamruns GmsEh aaug -

(A)
(B)
o

D)

(E)

Principle of télescopic alidade

QararaCpradl oG ulen s&gieutb

Principle of compass
Sansariigullen 55 6D
Principle of plane table

FOGET LIOMNSE HEFIeULD

Principle of chain
sl el sggieuD

Answer not known
elenL GgMweildaa

69 387 - Surveyor
[Turn over



143. Which of the instrument is NOT used in plane table surveying?

FLOGET D|ETEHNG #rGeuulleh Sp&seiTL CTHSE 2 LIGFenTD
LweruBissULHeudiene ?
(A) Alidade " " (B) Planetable
G FOSETLIVME
(C) Tripod ﬁ)) Levelling staff
Wp&&TEdl L enseng Came

(E) Answer not known
ellenL Ggfweildene

_144. A graphical device to convert one variable into another is called as

g Wrdlanw mm@mn@ wrdilre OTHnEsHEGL Lweu@n smell eaenn

S P&sEUUBHEDS ?

(A) Plain scales (B) Diagonal scales
Lienerer avGsed L WISATED m)CSaSGU
lC) Comparative scale (D) Vernier scale
SLCUQTLy 6y evCaHe Qeurailwi evGae

(E) Answer not known
cllen Ggflwaicrency

145. If an actual length of an electrical switch board of length 30 mm, 1s
represented by a 30 mm length on drawing. What is the
. Representative fraction? , , . , .
30 .15 2 amerpwmer Bard 2 el w g asLilad dellld Curi@® <arg
cuenTULSHQID 3G arelledr 30 0.0 HeTpenLISTE UENTULILILILTER DHS6
QrurQeetGLigey sUpTsager (gl Gearanbd) ereme ?
(A 1:4 ' B) 1:3

vO 1:1 D) 1:2

(E) Answer not known
alenL Ggilweldrena
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146. It is a curved ruler used for drawing irregular curves that are

neither circles nor circular arcs, 1s known as

QU LEsaTEeD  @éoeornd eallL edsamrsan Gdampd  @UEIsDHD
euePETeyEETTS:  @(FLiLeuhenD.  euepeUSHEGL UweTRHlb G eueneTeuTar |
cuengGaned Geueunm seop&slupEng ? |

(A) Fastener (B) Protractor
Qg LiLimebraeT urensTet]
ﬁ) French curves (D) Stencils
SL1QEss aieia O Lendled

(E) Answer not known
eflenL Qgflwelldane

147. It is a thin line projectihg from the feature and extending beyond
the dimension line is called as

2 meugdler @mHa GeuellCuw B L i ywmegh @ Gwadddw Gamh whmib
@s Lwlneager GsrlienL g gmamg Sl Ul gmé@h. Seneu @diemy)

Sien&EaliLIhiEng 2
(A) Dimension line (B) Leader line
LwQuwenagen Gasm(h Lt Gasnp
ﬁ) Extension hine (D) Termination line
ar&en@Lctragen Gan(h wyenib Cari

(E} Answer not known
dilen AgRweildena
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148. A solid having eight equilateral triangular faces is called as
Tl swuss WwECsmam wselysaa eelw @ Sl Qurmer @deurm
SmP&5LILIHEDE ? '

VB Octahedron R

< sLTOanl Trer () eredrapsib

(B) Hexahedron
QamsenrGani_yrer (=) Hmpsliy o

(C) Tetrahedron |
Qui_grGami grer (=) preul L &b

(D) "Cylinder

o (mener

(E) Answer not known
aflen Ggflueidena

149. If an actual length of a typical terminal strip of 10 mm is
represented by 50 mm length on drawing, what 1is the

Representative fraction?

@@ eupdswrar Quidlerd ol flnGear o arenwwrar Herd <oparg 10 8.8
ey euepyuL SHd 50 B8 Beronss @MesLTD. g6 NSl Gemarid
CTEITEHT ?

A) 1:5 (B) 2:5

VO 5:1 | . D 5:2

(E) Answer not known
sllant_ Qgflweildana
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150. The manner of arrangement of doors and windows in the external
walls of the building to draw maximum effect from sun and wind is

151.

termed as

sl ypisaisalld, @flwear whmb srhdler afdsul s Lweanseaner .Qumib
UDESUTD BBLEGDL alfiunsUITaTg BeIeuTn ASWRSSILHEDS.

(A) Prospect

GueTeUMIILIL] (eTHTHTE LicvelT)

(C) Grouping
Qsr@dsd (GmHUAn)
(E) Answer not known

ﬁ?)) Aspect
gapunk (Czmbmib/Hlene)

(D) Roominess
uyhg Hene (Gungbrer ieTe])

dlenL @giwuefdency

Match the following drawing board sizes (in mm) as per BIS
standards :
@ndws s16 s GUUTLE Hpeuer amaﬁ‘lm U, SpssaT GLIGU)IIL.Il_LJ LS

sjemeysenarll QUTmeE)s:

(a) BO 1.
(b) B1 2.
{(c) B2 3.
@ B3 4

@ o © @
A1 2 3 4
vib) 4 3 2 1

) 4 3 1 2
D) 1 2 4 3

(E) Answer not known
sHenL Gasflweideana

500 x 350 x 15
700 x 500 x 15
1000 x 700 x 25
1500 x 1000 x 25
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152. The plan of the buildings and elevations and sections is

recommended (as per NBC) to a scale of
sllgl mseafan gepgluLb, paty Csmhpd wHmbd GnéEG Csmhorsd
SpsaaTL. ahg (b eteys S sdd (aramd Lig) uvﬂ‘r_ﬁgumr;asaauu(b\élg)@m

(A 1:10 vé) 1:100
(C) 1:500 (D) 1:1000

(E) Answer not known
dllen QgRwelldane

153. Which among the followmg is NOT the important aim of building

drainage?
) ﬁgpgaswl_eum@;m T HL gl GUlgHTED i1 HaTe (Bprraaasm B|6e ?

(A) To dispose off liquid waste as early as possible
fraus sifloysaman (Wpyubs Bere| edlenyeurs WeuaflGuipmiged
- (B) To dispose’off the storm water into open surface drain
Hops sy ey aTaisg wapbar QeealCupneusnE
(C) To prevent entry of foul gases from the sewer to the building

sifley Bis  Gumibdmhs slgl @ STETODLIST  TUSSET
mepeiens shuusHs ‘ :

\ﬁ)) To supply required water from tank to the building
Qam_ipuladlmba sy s8he Camaiwnar Slleanar cuprised

(E) Answer not known
cflenL Gsiflwelcreney
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154.

155;

The system by which used and contaminated water is removed by

means of drains, is called as
QgsTe®  Apeld  LWEURSSUULL  DDRF  DESSOTET  SementT

QeuafGuppriu@n e @eieury S@p&sLLBEDS. |

(A) Storm water (B) Air gap

YW sesentit sTHm @entCeuat
(C) In takes \A)) Drainage

G eGLg@aar - eugsrd UL

(E) Answer not known
allenL Ggilueiicana

A type of sewer section is used for the construction of large sewers
with heavy discharges such as outfall or trunk sewers and its height
is more than width. It is called as

@M wes egsmd Cdeseyen (Heul (Apstd) Guflwersllorer shle|sEnsE

Quepwerey QeuallGubnsHnE sreug e surd (sfley B Csmeund)
SIDWF B UG ETO&KET (HUHHEISHE&ESTOSET) &L@LDTI’GGT(Q’;@]_T) vweTuBEng.
Cuogyb @ser 2 wpb Isogns L dswrerg. %mm eTeueUTM)
SN P&SLILIH Sl eTman ?

(A) Egg-shaped sewer
(PLGHL 6Ulg 6l GUIg&HTEd

(B) Box sewer
Quily aug&sTeD

‘[C) Horse shoe sewer

GHdT 6f (GeTby) UGe GURETH

(D) Parabolic sewer
unyrGuredld (LFeueneTwt) eulg &ma

(E) Answer not known
elilent_ Qs flweildanc
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156. 1s the organic matter deposited at the bottom of the
sedimentation tank during the treatment of the sewage.
sifleybin  ssdaflbler Gumg uLgeys G]gm_Lq_uﬂaﬂ é;nq_uﬁleu uqrr_ﬁré,]([r,as@jm
a;brra;rrasﬂa; (&flol) QurmeTser -
(A) Sewage A) Sludge
EFTE&HM L sfleybié sa@h /Cem
(C) Coagulant (D) Leachate
Sevgrndl ST BSOS
(E) Answer not known
- eflen Gzflwueiidana
157. is the sewer that carries domestic sewage, industrial
sewage and storm water.
sfla|brsgprunag ol Gs sfley B, Qemfibsrenc sidleybi
LD HEY LD Losmgasasrreu sifleybeny ﬂ@g@& Qadgib.
(A) Storm sewer B) Comblned sewer
wenplir sfleyBis @GLpm gl (Hé sfleybis Gpmu
(C) Sanitary sewer (D) House sewer
gangy sifle|Bis @Lpml IL{ sfeybirs @Lpmi
(E) Answer not known
edlenL Qgflueideana
-158. What is the scale factor for a scale of 1/4 inch = 1 foot?

1/4 @b = 1 iy et siereliharar ieteil (H& smyenfl ereter?

v a8

(C) 32
(E)

Answer not known
cllenL. Wsflueildena
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159. Which among the following is NOT the important consideration for
plotting in CAD?
Epss_aupmiet Grgd CAD-a g&ﬁ@g@&@ Gg,ma.lu_mm (_Lpa;é]u_l a;@g,eu

(A)

(B)

©)
v

(E)

Selecting a scale for drawings
QUETUL-LSERGSTE @(F Serayd S Lsms Carblsh s

Composing a drawing layout
QH CUHTUL Janblliant) 2 (heuT&HGHSe

Selecting text and dimension heights

(PSS LHMILD cwmeq 2 WITRISeneT Gg,rrg;@g@g,g,su

‘Creatmg an array of objects

Qur@Lsaiear siamflsamer (array) i@@urré;@g,ei)

Answer not known
aflen GsMwslldvana

160. ‘PLOT command in CAD
CAD & ‘PLOT st Lenerwnengy

(A)

(B)

(©)

v

(E)

Creates a plot layout
W& S HenwLienL C‘Sg,rr,mgjaﬁ]asaﬂrmgj

Controls the page layout
L&& Siemejsamer sUHLubhsgdng

Displays the drawing as it will be plotted
SFfLOLBeug Gumd, euayuL g Senguiled s Qdng

Prints a drawing to a printer -
SFsLGUrMulledr e cuanTuL Sang EHHE DS

Answer not known
dilemL. Gzflwaiicena
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161. A CAD drawing is a file that consists of numeric data
that will be saved into a disk.

in

e CAD awmruLwrag om alyd GslssuuLs Folg Wl
2 GTET GTRITETT SFeymanetd QaTar gp Gy By@m.

(A) Decimal form (B) Word form
gl eulgeuHSdd UGS eulgeSHled
JC) Binary form (D) Matrix form
eouenl cuigeusHd 2wl cugeuGSed

(E) Answer not known
alen Qgiflweiidane

162. What is the use of function key F3?
F3 Qewaur’ (i Suler uwetum() eremer?

(A) TABLET v(ﬁ) OSNAP
(C) ISOPLANE ' (D) SAVE AS

(E) Answer not known
dilenL Gaflweilcrena

163. Which of the following file extensions cannot open AutoCAD?
Qetreumnd GCamiy Brgriysefledr ag < CLr CamL dnés apiguirg ?

v dot (B) dwg
(O dxf | ' (D) dws

(E) Answer not known
eflenL Qaflwaidanay
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164. Which of the following software is limited for Auto CAD installation?
Qemeu(pid Ger@ummaiey <, CLrGsl Hmeuisd erg) cueumssILL L g ?

(A) _Windows DOS

cAlamGuLmey e

(C) Windows 03
A&rGLmev 03

(E) Answer not known
cflenL Ggflwelldane

165. Scaling helps objects make them
- @erteyiorpho - (scaling)

2 gaélpg.
(A) Bigger
Quilugrs

‘(C) Constant size
Hlepeowimar jarey

(E) Answer not known
eflenL Qailweildane

fpetd  GumEpL_Ganer

(B) Windows 98

NawrCGLmeiv 98

ﬁ)) Windows 10

AerGrmeiv 10

G 2 (HeUTEHE -

(B) Smaller
Adwugns

WD) Both (&) and (®)

(A) wpmid (B)

166. The shortcut command for a rectangle
Qscucuasdler Gma@Gell &L aneT eTenet?

V(& REC

(C) RE

(E) Answer not known
ellenl_ Qgfweiidena
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167. Ctrl + N key strokes function is
Ctrl + N § evi Grrseller Qewe Crrésind ereme?

.~ (A). Number command . - \/63) New command ... .
eretar &Gl e By, &6 we
(C) Numeric command (D) Both (A) and (B)
Blupofld s6lwer (A) vomw (B)

(E) Answer not known
eflen Qafwieildveney

168. What you cannot create from the command offset?
Offset sl awardalmpg frisdr o (eurss Wawngg egd? o

(A) Concentric circles \AS) Vertical straight
WL GuUL L FBIGET Crir Qam@sg

(C) Three parallel lines - (D) Parallel arcs
epenn @enenr Car@aer BnenT UMETESET

(E) Answer not known
alenL. Qzflwelena
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169. Which of the following are correct matches?
Epssameupmear Flurer QUITHSSBIGET eTeneu ?

(1) Ctrl+B —  Snap on/off
Ctrl+ B GUGITITL) eh OHMID Bposll
(2) Ctrl+L —  QOrtho on/off
Ctri+ L 2, TCSHT e HMID Db
3 Ctrl+T —  Tracking on/off
Ctrl +T g TGS Sp6h HHID ool
4 Ctrl+G —  Grid on/off
Ctrl + G AN pelt wHHID Bpeots
@A) 2,3, @ B) (1), (2), (3)
vO @ @ @) (1), 3), @
(E) Answer not known
eflenL Qgfwueildvana
170. In AutoCAD, “Ortho” command 1s used to draw lines.
2 GLrGsiged, “ortho” sl ieenfer epebd CeuflseT  euenqwil
vwetuhEns.
(A) Inclined VB Perpendicular
Qs Gss e . gmieurer
(C) Polyline (D) (A) and (C)
umellenevei (A) wpmiw (C)
(E) Answer not known

cllenL @gflwelldvenay
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171. Which command is used for move and rotate dimension text?
Sereipsailen QALsevsamer paETsgMsHESD SFPOHNUSHGL THS SULener

LweTLH$SUUHSDa) 2
" (A) DDEDIT - ' \AS) DIMTEDIT
(C) QDIM (D) DIM

(E) Answer not known
eflenL QgMweildeana

172, Mid point snap means
BHILeTat suerml eTegy

. ﬁ&) Mid pomt of a line (or) Arc ..
@@ Carlh sdang cuamaetedle GmLDU_Il_ILjaTGTﬂ

(B) Mid point of block
QsmEdl epwwitiyeret

(C) Mid point of weight -
poHyeTafl eren

(D) Mid point of tolerances
Qurmidluller p@HLeTar

(E) Answer not known
efeni- Qaflweiidans

173. Which command is used for modifying dimensions?
SeraiREener IHD 6ThS S L aner LweiLIBSSILHE DS 2

\/(i\) DDEDIT (B) DIMTEDIT
(C) QDIM | (D) DIM

(E) Answer not known
ellenL Qaflwelldvana
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174. Which is not a dimension edit commands?
@& ergl eTai(hisener S(HEEID ELLneTenl ST ?

(A) Override (B) New text
CuQa s Yyl 2 enry

(C) Oblique \ﬁ) Spline
Fmlbs 610 L1 em 60 63T

(E) Answer not known
cllenL G giflwelldvenaw

175. Which of the following matches are correct regarding function of
commands? : : -
Spsasa  QurmpsstsEneT &L eversetlen  Gewdurfhisat @G HssTe
sflwnereney ereneu 7

(1) DIMTEDIT - Moves and rotates dimension text
DIMTEDIT b&iat wHnIb &pHm uflbrar o ey
(2) QDIM — Modifying dimensions
QDIM ierai(HGamaT WrhHmS0
(3) MTEXT — Editing text
| MTEXT 2y HHSHSD
V& @ only (B) (2 only
| (1) LI CTLg ' (2) WD
(C) (3) only (D) (2) and (3)
(3) G (2) whgib (3)

(E) Answer not known
sllen Qgflueildwana
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176. Match the following CAD commands with its use.

Spssan CAD sl Lanersenar Sigen Lweum’ Hier QUMbss)s.

(@) EXTEND - .. . 1. Extends the dimensions of a 2D object
EXTEND am @muiammol  Qurmeller  iaTeysean
Bl sdng
(b EXTRUDE 2. Extends objects to meet the edges of
other objects
EXTRUDE Qp Qummlsefien oeflibysemer Qs
QumpLsener Bl g &HnaH
(¢ HATCH 3. Fills an enclosed area with a pattern
HATCH @ apgw  ugdleer e Lmesiudld
(d) FILLET ' 4. Rounds the edges of objects
FILLET Qugp_sefler efafiibysener eueereur&@GE DS

(@- (b @© (@

(A) 1 2 3 4
VB 2 1 3 4
(C) 2 1 4 3
(D) 4 3 2 1

(E) Answer not known
cfan Ggflwueiidana

-177. Which command is used for creating multiple copies of objects in a

pattern?
e uranflulld U BaseTTs QUL GMET 2 (HhauMdks: 2 SED S LNET oTgi?
(A) ALIGN , (B) ATTDEF

\ﬁ]) ARRAY (D) MIRROR

(E) Answer not known
ellen Qgflweiidane
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178. Which command is used for extending objects to meet the edges of
other objects?
bp Qumplseflear eleaflbiNener an@mgm@ QLJIT@I_BEGU)GT ;EL_Lq.asa 2 ga@|b

. S LeneT aTH? ) ] 4
(A) LENGTHEN Vé) EXTEND
(C) STRETCH (D) TRIM

(E) Answer not known
clilen_ Ggflweiidana

179. Which command is used for movmg objects a spemﬁed distance in a
- specified direction? .
pm GOUACL davaulldr @ @AUEGiL g Qunmlemer BaTEsIEUSHE

LweU(ID S L_ener eTg ?

(A) MLINE (B) HATCH
V& Move : (D) GROUP

(E) Answer not known
eflen Ggiflweiichenew

180. What is the system to locate a point by its distance and angle of the
co-ordinate system?
Qu @wller Ggrenee) wHpb Csmemd epeowrs @  Yeataflulanen
SiewiushE e Mu ey erg ?

(A) Cartesian co-ordinate ' \[ﬁ) Polar co-ordinate -
ST Lo SlUI6hT Uith Curart g,wib

(C) Relative co-ordinate (D) Absolute co-ordinate
Frmwd <y wib ‘ SN HUILD

(E) Answer not known
cflen @Agflwueidena
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181. The instrument used for setting up north orientation in plane table
survey is
Fgar Lowams sTGauulld auL&E Foswumne d@wés LuaLRIb smell
(A) Maghetic corr'lpass‘ S o
anpg Hevgsmig

ﬁ) Trough compass

L 7oeld Slens&mLig. (IgTaell SMBLIGD)
(C) Sprit level
gL (evlEfll Qeeud)

(D) Alidade
SRR Y7\ [T W

(E) Answer not known
ellenL GgMwelcene

182. The large size of plane table is
swger Cuansulen (MGarer GLGaflenr) Quw yaTey ereme ?

\AX) 750 mm x 600 mm x 15 mm  (B) 700 mm x 600 mm X 15 mm
(C) 710 mmx610mmx15mm (D) 720 mm X 610 mm X 15 mm

(E) Answer not known
eflen Qgflwelcene
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183. The first temporary adjustment' to be done after setting up the plane

- 184,

table at any station will be

ggar UMW The GLeyallgid @SS LEH;D@ Qeviwiu@L  AWsH

shanedls sil Caige eremen?

(A) Sighting

Umirenay
(C) Centering
aWILI(HESISeD

Answer not known
ellenL Ggflweildenc

(E)

bubble at centre.

\ﬁ?)) Levelling

gaTu(hid g 56

(D) Orientation
G @ Hlane

— consists of a small metal tube which contains a small

em Sfwu 2 Carss Gurew QuIkssLLL®, @sar @wvwsdeo Hflu Bis

GWflenwis QaramBuimluug eretier ?

(A) Alidade
SOGL L
(C) Plumbing fork
Aerbidlm Gumirs
(E) Answer not known

elen Qzflweildena

87

\@) Sprit level

eula . Qeveudd (FaFwL L LD)

(D) Telescopic
GzrenaGrmad)
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185. In plane tabling the instrument used to measure horizontal and
vertical distances directly 1s known as
GQGererr CLGed s#iCeauuinifledr dlanLwl L whpbd CokEGsg SMemns @pqun&
- SjerellL Lwetu@Rb &@helt —————— aer-MuiuRdng. - ,

(A) Plane alidade
FWFET el GL L

(C) Tacheometer

GLCambLr i

(E) Answer not known
allenL. Ggflweilawena

\/B) Telescopic alidade
QgreraCrrédl ieflGLL

(D) Clinometer
- fefiCGermSLLrr

186. Match the following methods of plane table surveying
SpaserrL AGarer G siGeuuiien cuanssamar Aunpsgis

(a) Radiation 1.
Gy Guiager .
(b) Inter section 2.

@ e rolg&agen
(¢) Traversing 3.
g meu T s
4.
@ ® (©

vivi o 3 2
B 2 3 4
© 4 2 1
M3 4 2

(E) Answer not known
eflenL Qg fluederancd
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Only one station
2Cr @ svGLger

More than station
sifstiugwnrer evGL s

Two station
@rarh svGLgen

Three station
apermy evGLFer
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187. Detailed plotting is generally done by

slfleuner euenysed Qurgieuns ———— e epeh QeutiuBGEpg.
\/(A) - Radiation (B) Traversing
“CrgCuagen ' \g-TTeu T ras
(C) Resection (D) Intersection
MQev&as @enL_llendaen

(E) Answer not known
v Qgflweildane

188 The Intersection method is mamly used for
6T G@earn (b (WPeD @&TI_FTQGTUSSEGUT " D) @&duwnnsL

“uweupEsauGdng ?
(A) Dam construction ﬁ) Mapping details
ST &U_(HILOMETLD euenTuL elleurmigen
(C) Read . (D) Building
FIENE Sl lg LD

(E) Answer not known
dilan AgMwishldana

189. Plane Table, traverse involves the same principle as a

FOgET Jjatsms Le@s, kgrrafalld —— @Gy Gsrdtersaw
2 eTenL&dlug).
(A) * Non Transit Traverse %3) Transit Traverse
BT6 g pmemersi g Tmedien g Jreerdl g Jmeu e
(C) Sighting Traverse (D) Non Sighting Traverse
umrirened &L_ba) : urfeneuWIHD LITens

(E) Answer not known
elen Cgflueldena
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190. Abney level used to measure
<9afl jerancu (1Ger WL e} ppb eTeng el LwWeTUREDE) ?

(A) Horizontal angles
feLwl L Carerhsdr

(B) Inclined steep angles
Fsnihg Cemgssren Camemhiser
%C) Vertical angles
- Qe sg Camarthiger
(D) Negative angles

ardlifenm Caranmhiser

(E) Answer not known
- dfler Gzflweilcoenar

191. A clinometer 1s used for
R HeafGermSr Lt THHENE um@u@{&;gﬁy@aﬁlm@?
\Aﬁ) Measuring angle of slope
smiellen GCamemseng siemall(higeo
(B) Correcting line of collimation

uriene wL L& GCarl e #flFuigd

(C) Setting out right angles
sflwrer Qetigsg Comammisamar amwaiDng)

(D) Defining natural features
Qupens SbFhEIGmEr cueTUMSEHDG

' (E) Answer nof known
alflen Qgflweiidana
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192. Which among the following is NOT a advantage of the plane table

surveying?
EPSERTL.QUDMIST 615 ST SabmaslLams leTsansullwedlen @ Hetenn
T Sl ? -

| (A) It is used in magnetic areas also
Qg sbs elensl) LGdsailgyd vweTUhHGSOTD

(B) All the plotting work including contouring is done in the field
FLOGH QUMTHD (mar(Gim) 2 luL Searsg euenrUL CSQJ&)@)&;@L’D
sargHGautw Qewuiu®dpg

(C) The accuracy of the plot can be ascertained as the work

vh

(E)

progresses in the field

segdCatu vl  Ggritagrd, eaeiuLgdar  godlugsdein
2 pFluu@ESSL Py éipg | -
It is suitable for work in wet climate and high wind

@& wroter sreofleosaligid wHnbd s srdmETer @i msaflgib
Gauewer Wewdl. Aurpsswnang

Answer not known
cflen_ Qaflweiidena

193. The blue printing process is the simplest one of reproduction of
drawings, drawn by ' | |
s Gfamgs Qeuigpenn euenyuLSeng —— ppeld omg Fwrily
Qevieudler @g Waeab eaflevbwrer apanmuITEHLD.

A)

©)

()

Folding | | v(ﬁ) Tracing
DIy LIy g Gyl
Colouring (D) Inking
sl A Erdln

Answer not known
cllen_ Gamweildana
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194, 1s also similar to the blue printing method.
@agieyd yes Gflar wpean Gurenpgisme.

| A) Ammonia process . (B) Sulfur process

<Gwrafiur Qaiapay st degpep

(C) Chloride process (D) EDTA process
&Gerrerr® Qetipenn EDTA Qe

(E) Answer not known
ellenL. Qgflwuefcency

195. The instrument which is used in plane tabling for obtaining
: horizontal and vertical distances directly without resorting to
chaining 1s known as :
sadlellerws primod  Gprquwrs  AewiL  oHmd  QehiEdgs  STES®S
Crygwrs QupegHE WS JaTsms uLasld LwaLGSSLUGL smed
arar Siapsasiuhiding.

(A) Plans alidade B Telescopic alidade
FgeT G QgraraCpréad seGLL

(C) Clinometer (D) Tacheometer
SefCarmSLLir CLGamSL L

(E) Answer not known
eflenL Qgilwelicdvena

387 — Surveyor 92



196. Which of the below 1s not a method of doing resection?
&ECy o arareumdled ergl INGCSHEGL ey (NCssaz6T) Bcber?
(A) Back sighting
Sler Lmteney
(B) Solving two point problem
@ren® yerefl apenpuded Sriiug
(C) Solving three point problem
- epenm yerefl penpuded Siving
\xﬁ) Solving four point problem
e Yerefl wenpulld Siling

(E) Answer not known .
silev Qg flwueildana

197. It is necessary to go to one of the plotted stations in the method of
resection by ) ] .
UfgbsRssd weapuld Sl dliuul L Booubiseld qendbe ereubider
epobd Ceda Ceuabngwig eudlwb

V(A) A back ray
Geir adliser (Gus Grev)
(B) Trough compass
Qzmiily Hpssamily (gooFl STDUGHD)

(C) Three point method
apen eredl gpenp

(D) Two point method
Qrem® yerafll apenp

(E) Answer not known
ellenL. @gRweiicena
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198. The other name for Bessel’s method 1s called as

Gugeen eanmuien wHGpmm Quwir
{A)  Mechanical method

Qupdy ep

ﬁ]) Graphical method
CUANTHER) (LPED

- (E) Answer not known
cllenL Qgflweidancy

(B) Trial and error method -
Camganan whHpibd Genp apenm -

(D) Traverse method
LIWIGRT (LpepD

199. In the plane table surveying, Bessels Graphlcal Method is adopted

for the solution of .

LGearer QLG4 siGandie, Qusdey euemryasema) (gmnm ‘%%Qasamm_mm@m B

Sireyds, uumu@gguu@ﬁm@
(A) Two point problem

Q@ yarell sanss B e

(C) Traversing problem
g rreufh seradH e

(E) Answer not known
ellenL. Gsflweildans
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A) Three point problem

epeTml LaTal SemsS® (e

(D) Graphic triangulation
Slyrilia(cuamraane) p&GaTanmd



200. Which of the following Statements are True about errors of

manipulation and sighting in plane table surveying?
HET BETEME Lieens Slesensuduicid: enswmensd whHnid sreeredles ehuiim
Genpaer @Ghlssrer SpssamL sambmsatidy eflunareney aame ?

I. Inaccurate sighting or bisection causes error in plotting
gioadluldnns sremd wHMb GBS bl uampsadle Gempamus
THURSSHDS).

II.. If the alidade i1s not pivoted properly on point, the rays drawn
will be in error.

@ yetafiller G ofllGLLnrergy silurs spdlwuse ewwwnns
S@wsslULTel Lrd, euengululL ey asdliadt  Sepuns

D{ENLOULD.
(A) Ionly (B) II only
) TR\ IT e @w
ﬁ) Tand II (D) Both are incorrect
" T wpmyw II ] C @rem@pin sflurer sbnde

(E) Answer not known
clenL Ggflwaidens
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